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TNUSRB - SUB INSPECTOR RECRUITMENT TRAINING - 2022
TEST XIV - REVISION I - GENERAL SCIENCE & PSYCHOLOGY

1. Heliocentric theory was proposed by

a. Ptolemy b. Copernicus c. Aryabhatta  d. Tycho Brahe

Gflw emowd Csmeitendamul Geueull L eufT

a. Hmeolh b. Gsmuirmserd c. oyflwucm d. e GaxmiGy
2. The refractive index of Ice is

a.1.30 b. 1.60 c.1.90 d. 2.10

uedbaL 1guller gelalleuded 66wt

a.1.30 b. 1.60 c.1.90 d. 2.10
3. Twinkling of stars is caused due to of light rays.

a. reflection b. refraction c. diffraction d. polarization

BLIFSHHTD e6MiTeudHeil STI6NID 61T B TH 6N 60T

a. adQymefiny  b. afevasev c. aleflib elemera)] d. (pevereurdsid
4. Bifocal lens was invented by

a. Orville b. John Boyd Dunlop

c. Nicolas Cugnot d. Benjamin Franklin

Bm @alw Geveteng HewiBLIYHSHeUT WiImT?

a. 9Tale0ed b. sgmest UTUIG L 660l

C. HBBTeveL HBMBHTL d. Guesigiflesr Liymhisefesr

5. In desert, the phenomena of mirage occurs due to
a. total internal reflection ~ b. diffraction  c. polarisation d. refraction
LITEnEVAIGTISHSH60 HTerted HiT CHTGIM  SHMTFeuTLd
a. (Ipp S5 eIHGITeNL b. gaf alefiby elemerey
C. FH6 ailenere d. gefl alevsed

6. One calorie equals to

a. 4.18 Joule b. 4.81 Joule c. 8.41 Joule d. 8.14 Joule
@ &6l M@ &L

a. 4.18 360 b. 4.81 o860 C. 8.41 o860 d. 8.14 o8ev

7. Nuclear fusion is a process in which
L. Two or more lighter Nuclei combine to form a heavier Nucleus
II. A Heavy Nucleus splits into 2 or more Nucleus
III.  Fusion of 2 or more Heavy Nucleus
IV.  Fusion of a Heavy Nucleus with a light Nucleus
Al B.I1&II C. II & III D.IV
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10.

11.

SIIHHH Denewiay Hobaler CUTSH

L Bm Slevevgl ArenigB@&LD CoBul L QGe0sFTe DIeIS(HEHH6T Ben6emihHl SHeTLOT60
Sigis e GHMBBIaldhH6e0

II. SEVEs®m 2 LBBID NS DIWBHBHENTSH  FlendHH6e0

III. 2 By SI5BE& GoLBULL & SOITE DeWIbE[HHHTE Benania]

IV. sienssm SCuamer Sigmidbd(hHaL 6T E6n6mTdHe0

A.l B.I1&II C. I &III D.IV

The base used in manufacture of medicines for stomach troubles

A. NaOH B. Mg(CH), C. Ca(OH), D. Na,0
auIBB © LUTenSHBEHdHE LHHSTS LWILIBLD SIFLD

A. NaOH B. Mg(OH), C. Ca(OH), D. Na,0
Match the following

a. King of chemicals 1. Carbonic acid

b. Cleaning agent 2. Hydrochloric acid

c. Food preservative 3. Sulphuric acid

d. Aerated drinks 4. Ammonium hydroxide
e. Remove grease stains from clothes 5. Benzoic acid

A GargdHow B 0steHCwrG Gummssis:

a. Goudls QuIT(HL_H6rilesr & 6ot 1. smureids $Idevd

b. gruemwliLGHSID CUIT(Heit 2. ewaml BymgGenmile  Sidlevid
C. @ el IOLIT(HL BH6M6N LITHIHTHFH60 3. BbHB HibevID

d. smBm QLS L GeNiTuTeid 4. oubGomelwid ewaBL JTHemna (b
e. glenlseiled 2 66 6lewIGlenIUlsh &HenBEHmerN

SIBBM 5. Queitsmuis odlevld
a b C d e
A 3 2 1 4 5
B. 3 2 5 1 4
cC. 2 1 3 4 5
D. 3 1 4 2 5

Kgm1sec 2 is an equivalent unit for

A. calorie B. Newton C.joule D. Pascal
Kgm-1sec 2 afleir sowmer o6&
A. a8eom B. Myt et C. 23260 D. umerbaed

Joule’s law of heating is
I 2

A. H :Et B. H= V2Rt C. H=IR?t D.H= VIt

aoeUlenl Gleulil ailg)
|2

A. H :Et B. H = V2Rt C. H=IR?t D.H= VIt
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12.  Fuse wire is an alloy of

A. Lead and Tin B. Tin and Coppar

C. Lead and Copper D. Lead and Iron

eti2_(H& @emipuled 2 6iten 2 GeuTeHd Hevenal

A. Fuub oBpIb  GeueTerfulld B. Qeueiteffwid wmmid Hmdlyid
C. Fwib wBmIDd SHTlFLD D. Fub oBpid @ miby

13.  Which one of the following is correctly matched?

a. Hydraulic press - Archimedes principle

b. Lift on airplane - Bernoulli’s principle

c. Paint - gun - Newton’s third law

d. Electron microscope - Refraction of electron waves
LleoTehHedeIBmIeT 615 FRwmes EenemrdalILL (HeT6ng

A. piraniy OpmBGID HHal - THBIOeFT HHHINILD

B. elorensensdd HTHEHH0 - ur@eormedlulen &g gleud

C. Quuier giiméa) - Byl Lefledr cpeiimmeugl 6Mlg)

D. etevdbl_ment miewtGeuormbad) - 6TEVBL_ITET DIM6VH6ITET 6)60H6D

14. The size of the atomic nucleus is

A. 10" m B. 10" m C. 10 m D. 10° m
SIEWIHBHHAT  DI6TT6)
A. 10" m B. 10" m C. 10 m D. 10° m
15.  Match the following
Side A Side B
a. John Dalton 1. Electrode
b. Cathode rays 2. Protons
c. Hydrogen ions 3. Meteorologist
d. William Crooke 4. Zinc Sulphide
e. Fluorescent material 5. Discharge tube
CUT(HHHIH
a. £QmedT L MeVL 6vT 1. 10esT(Lpement
b. Bx5CaM1H ®HTHeN 2. yGymLmesr
C. MABL TG HeolloLd 3. aureflewev SLITUIFFWImeNT
d. eleveduid @emd 4. FSHFHBTE FeomLH
e. @6f(HD SHeirenioujeiten  CILITHEIT 5. 10eTelBa@GLOTU]
a b C d e
A, 2 3 1 4 5
B. 3 2 1 5 4
C. 3 1 2 5 4
D. 1 3 2 4 5
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16.

17.

18.

19.

20.

Match the following

Material Use
a. DO 1. Coolant
b. Hafnium 2. Moderator
c. Liquid Sodium 3. Control rods
d. Neutron reflector 4. Minimizes the leakage of neutrons.
CQUT(HHHIH

QuIT(melT LIULI6OT
A. DO 1. @efiTailliLimest
B. Gamiiefluid 2. SHewilliimest
C. Syeu Gamguibd 3. &L BUUGSHBID GHFSHei
D. puwl grer ergOymeflliuimest 4. Pl gmer $8e] GmBEBLILGHE0

A B CcC D
a. 1 2 3 4
b. 2 1 4 3
C. 2 3 1 4
d 2 4 3 1
The quality of a sound depends upon the
L. Size of the vibrating body II. Material of the vibrating body
III. Overtones produced IV. Shape of the vibrating body
A LI &III B. I 1II, Il & IV C. I&III D.IL III & IV
elullell HTHWSH HITewruilILIG)
I. o1 TeymId Cummefler oieme] II. oFTamib CUTHeT Heirenio
III. Hewfi'iy SiFT6] FBLBHBHIHED IV. sidtamid Qurmerier eauigaild
A LI &Il B.L I Il & IV C.I1&III D. I IIl & IV
All images produced by the convex mirrors are
A.real images B. virtual images C.botha&b  D.none of these
Gal Siguied CaHTeImid LIDLIRISET DIHETSHSHILD
A. Quunbumiselt B. wrw Miburisei
C. Gubsem &6 D. eigie|bsvemnso
The equation is used in the Nuclear fission is
A. TR’ B. F- % C. E=mC2 D. Mgh
SlemIbH(H Llenaled LWeTLBLD FLoGTLTH
A. TR’ B. F- % C. E=mC?2 D. Mgh
The ratio of the linear stress to the linear strain of a body is called
A. Rigidity modulus B. Young’s modulus
C. Bulk modulus D. Hooke’s modulus

m Gurmefer g OQFWLBLBL SHMBOSGHWD iHL gBUBL HUSEGLD 2 6ien HH6)
a. enylih GlsD eIaIUBEBEH. b, Wbl @Gemisld 61aliLBaBE.
C. LU(BID &6mIHID 6IadlILIBHB MBS d.omesden @Gemisd eIalILIBGABEI.
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21.

22.

23.

24.

Moment of momentum is called

A. angular momentum B. moment of inertia

C. kinetic energy D. acceleration

o HHHH HHLULSHHMEN 6T  DeDLPSHHEVTLD?

A. Gamemt 2 [hHid B. Blemsving Hmligament
C. Quss oy mmev D. wp®sHsb

The bond formed by the donation of a pair of electron between the combining
atoms is called

A. Ionic bond B. Covalent Bond

C. Co-ordinate bond D. Hydrogen bond

Bementuld iemIshHEHHH LGB @ Gmmy 6levsHL JTaTdmen GBTHLILSTE 2 (HauTGL
LN emeuoTLIL ] eTeTLILI(BLD

A. el LeneurliL B. FallemewnriiL

C. Fope0 Llenemrli] D. enaml yeesr lenewriiL]

Match the items of list [ with list II

List I List II
a. Neutral ferric chloride solution 1. Identification of sulphur in
organic compounds

b. Fehling’s solution 2. To identify phenolic group

c. Sodium nitro prusside solution 3. To identity phosphate

d. Ammonium molybdate reagent 4. To identify reducing sugars
a b C d

A 3 1 4 2

B. 2 4 1 3

C. 2 3 4 1

D. 3 2 4 1

QUITMHEHHIH

L Quiey 1 Ul Quiey 2

a. phmemev ..0uiThe & CenTenyBHoHemnyas0 1. &flw@sTnHHlen F6v. LW

&6uoTL_ MUl

b. QU SHemyFsv 2. . .LenmeL& M6 S6uiTL sl

Cc. Gemouib e»BL GBI LmHmFH HEDJEF6L 3. umero@uiemL SHemrL_mlul

d. ouwwrelwib wrediGL L &yew 4. QBSHH FTHBHM]

OUITHLsBemen et Ml

a b C d

A 3 1 4 2

B. 2 4 1 3

C. 2 3 4 1

D. 3 2 4 1

National chemical laboratory is located at
A. Delhi B. Kalpakkam C. Kolkata D. Pune
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Cardlw Goumluluied gl b QHEBEGLOL LD
A. GL606d B. seoumdsid C. ®608655T D. yeom

25.  Match list I correctly with list II

List I List II
a. Baking soda 1. Na,COs
b. Wahing soda 2. Solid CO;
c. Dry ice 3. CaCOs
d. Marble 4. NaH CO;
a b C d
A 1 2 3 4
B. 2 1 4 3
C. 4 1 2 3
D. 4 1 3 2
QUITHHHIH.
U guiev 1 ULl Quisy 2
a. genwwlsd GamLm 1. Na,COs
b. Fevemeu GamLrm 2. Sewio CO,
C. 2 _6VTLRNGSL 19 3. CaCOs
d. ueimiE 60 4. NaHCOs3
a b C d
A 1 2 3 4
B. 2 1 4 3
C. 4 1 2 3
D. 4 1 3 2
26. Match the following
List I List II
a. Alk KMnOy 1. Oxidizing Agent
b. Palladium 2. Reducing agent
c. Sodium perborate 3. Mild bleaching agent
d. Pure acetic acid 4. Glacial acetic acid
e. P,Os 5. dehydrating agent
a b C d e
A 1 2 3 4 5
B. 5 3 2 4 1
C. 3 5 4 2 1
D. 1 3 2 4 5
CQUT(HHHIB
a. a1y KMnOy 1. oLbFmGeaibm Hmyeni
b. LebGeuiguild 2. 9BsHH
c. Gamgounb OuITGuTGyL 3. @B OleuemTenLOWITES )
d. s 9l s Sflevd 4. HGendlwied F 1985 Sblevd
e. P,Os 5. BT HHD
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27.  Match the followings

List I List IT
a. Law of Triads 1. Dobereiner
b. Law of Octaves 2. Newland
c. Periodic law 3. Mendeleev
d. Modern periodic law 4. Moseley
a b C d
A 1 2 3 4
B. 2 1 4 3
C. 2 3 4 1
D. 4 3 2 1
QUT(HHHIH
U guied | U guieo 1T
a. (e alg 1. @uLmufeorT
b. etewin &l 2. BULUTENIL
C. QalTHHe @l 3. QewiL_6deil
d. peienr oauTHHa i) 4. GuomerdBev
a b C d
A 1 2 3 4
B. 2 1 4 3
C. 2 3 4 1
D. 4 3 2 1

28. Helium is preferred to hydrogen in airships as it
A. has greater lifting power
B. is less dense
C. is cheaper
D. does not form explosive mixture with air
LIBVIT60TEB6TT60 NS6VIULID QUM 6DeBL T aITUIRSE LSHeoTd BIFHULLGISHBE HTJeurD
o b lealenF DFHHLD
GOBHS SILTHIH 2 6ieng
&b BTG
. BTBHBILET H6VbHFH H6VeNa GRIQHGHID DLISHIH NN 2 (HEUTHBTHI

an ow
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29.

30.

31.

8 | Page

Match the following:

a. Isotopes 1. Atoms having same atomic number but different mass
numbers
b. Isobars 2. Atoms with same number of neutrons but different
atomic numbers
c. Isotones 3. Atoms with same mass number but different atomic
numbers
a b C
A 1 2 3
B. 1 3 2
C. 2 3 1
D. 2 1 3
CUT(HHHIH
a. |GamGLmiysei 1. 61 ol eTewIaID, WTBILILL  [HleDB 6T6mIEN6IIULILD
O BT DIeM)IHH6IT
b. s;GsTunitser 2. @8y MUl JTeiIH6T 61610T6001HMBUD, OTHILLL i
6T60THEMET OBHTEMIL  H|GIHEH6IT
C. :Can@Lmeirsmei 3. @8y memwm elewIeneIULD, OTHILL L i6u)l
6TE0TEN6MTUD ClBTEmIL.  ©|am)Ih 6T
a b C
A 1 2 3
B. 1 3 2
C. 2 3 1
D. 2 1 3
According to Arrhenius, an acid gives ___ions and a base gives ____ ions when
dissolved in water
A. H*; OH- B. OH-; H* C. Na*; CI- D. CI; Na*
SlifaSeiwierd  OsmeTenslig, B &b Gurgd Sibleold 66T
SIWIGNBHMGTUILD, HTJLD 6T6OTLIG SILINBMETUD HTSHInIQUIHE.
A. H*;, OH- B. OH-; H* C. Na*; CI- D. CI-; Na*
Choose the correct pair
a. Arsenic - 74 1. Calculate the Age of the earth
b. Iodine - 131 2. Blood clots
c. Sodium - 24 3. Tumour detection
d. Uranium - 238 4. Thyroid gland
a b

CJIY QU Ny
_ =N W o

2
4
2
4

oNwp
W W W =




gflwnereng GCHiHOHH

a. oiigels - 74 1. yaluleir euuigl &emrdhall 60
b. o@Gwmger - 131 2. BIHPHD 2_MBH6EV
c. Ggmguub - 24 3. &L 196N BHewi(BLIIGSHFH60
d. wGyefw - 238 4. eFHITUIH SO
a b C d
A 1 2 4 3
B. 3 4 1 2
C. 3 2 4 1
D. 3 4 2 1

32.  Which one of the following correct about neutron?
i. Neutrons are neutral particles
ii.  Neutrons are present in all atoms
iii. ~Mass of a neutron is almost equal to the mass of a proton
iv.  Neutron is a sub atomic particle
A.1i,iii, iv B. ii, iv C.iii & iv d. ii, iii, iv
BIPSHBHEWIL_UBMIGT HIULL Jmest UBBlul SHHSHIS6TNe0 FHwmeizm 61g)?
1. Bl JTeIse LaTgenowBnm  HHHemeL HIH6ITHeT
1i. BIULL JTETH6T 6T6060T DieINIGVID HIT6u0T8 & 6L b 631360
1. @@ Bwlgrelear Hens, gns@Gmpw @b LGCITLLTalear Henpdh@®Hs b
. puwlgrer oemele UGS GummenmsCal &HSLILGS MBS
A.1i,iii, iv B. ii, iv C.iii & iv d. ii, iii, iv

33. A Cathode Ray Oscilloscope (CRO) is used to measure of a signal.
a. voltage b. frequency c. phase d. all the above

AT Weiteumt SAHAT ewevey &My (CRO), @nengenasuiest M DeNHD

LWISSTLI(HSIBEI.
a. ferenpshsid b, oIFTOeuem C. s LGBsmewid  d. GuBampiul SIMRTIHHID

34. Bolometer is used to measure

a. Coefficient of thermal conductivity b. Humidity

c. Specific heat capacity d. heat radiation
GumBeur B L w1 LWTL(GSHY EFHeweT SieTail 60mLD.

a. Qaiusd HL_5HH Hme b. myliugib

C. QaulIL gBUSHSHBesT d. Geuin sgreiFas

35.  Match the following:

A. Newton 1. Radioactivity

B. Albert Einstein 2. Laws of planetary motion
C. Marie Curie 3. Laws of motion

D. Kepler 4. Relativity theory

A B C D
a. 1 3 4 2
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36.

37.

38.

10 | Page

b. 3 4 1
C. 2 1 3
d 4 2 1 3

=N

CUT(HSHHIS:
A. Byl L e 1. a@Hfluibsid
B. @eoui’  eeiterdiesst 2. Gamezeailar Quibs aldsel
C. Guofl &uyfl 3. Buss aldwel
D. Gsulenit 4. Fply grmiwed GemeTens
A B CcC D
a. 1 3 4 2
b. 3 4 1 2
C. 2 1 3 4
d 4 2 1 3
Which of the following is correct:
1. Force = mass x velocity 2. Acceleration = velocity / time
3. Work = Force x displacement 4. Power = work / time
a.1,2and 3 b.1,3and 4 c.2,3and 4 d.1,2and 4
S eUHeuaTaUBBled elenel &l
1 aleng = pHenp X FHengGeusld 2. 1pBHBID = HewFGausld / HTevld
3. Gauemev = aflewg X @ GUWTFH 4. Hmper = Gouenev / SHT6vID
a.1,2 wppid 3 b.1,3 wBmo 4 c 2,3 wigw 4 d. 1,2 wBmib 4

If 1 kg of a substance is fully converted into energy then the energy produced is
a.9 x101] b.9 x 1024 ] c.1] d.3 x108]

@ SHCeom Hmb Hlewm 2 _6iT6em GUT(HET (LPAPEUSHIOTS HBBEVTS LOTHBBLULGLD LTS
® (HOUTGHLD HLBMEV

a.9 x101] b.9 x 102 ] c.1] d.3 x108]

Choose the correct option which differentiates a vector and a scalar
a. Both are the same
b. Velocity will have both magnitude and direction. But speed does not have
direction.
c. Velocity will have magnitude only. But speed will have both magnitude
and direction.

d. Both are not comparable.

S8  OamhéssUUl(heTen  auTdHwmisehe  HmgCGoaushbmapwd  GousdhHmaubd

CoupipsaId sgiwmer auTésHugHmd CHThHOHBHHHMILD.

a. Geuspd, FHewaGous(pld @&TCB LG LD.

b. HwaCaussHBE Senad Hamawd wHI_(UGD.  ermed CaussHBEG Homa
LS UL LGS 606m6V.

Cc. FmzBaussHIME@ leTey WL G 2 6. CoussHHmE leey, HewFubd
&SI LIUGLD.

d. Geusid, HwaGauspd @ULIL (PIQUITSHG).




39.

40.

41.

42.

43.

The unit of Magnetic flux,

a. ohm b. volt c. tesla d. weber
STHSLILTWLSHSH T DI6VS,
a. @Ib b.Gaumevl” C. QL_erbeur d. Geuuir

The unit for equivalent conductivity is

a. ohm™ cm! b. ohm™ cm2 eq! c. ohm™ cm? eq! d.Scm?eq?!
oM HLHFH HM 6 DIGVS)
a. ohm™ cm! b. ohm™ cm2 eq! c. ohm™ cm? eq! d.Scm?eq?!
Match the following;:
A. Myopia 1. Bifocal lens
B. Hyper Metropia 2. Cylindrical lens
C. Presbyopia (above 45yrs of age) 3. Concave lens
D. Astigamatism 4. Convex lens
A B CcC D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d 1 2 3 4
OUIT(HSHHI.

A. SiewmTenLolILIMTen6) 1. ®mupsliy alsvensv
B. smyliuniene 2. © (Hewell @leLem6V
C. UyevenuGuimiwim (45 euwigisb@ Gsd) 3. @I alevenev

D. o m fArilenip 4. Gal alevenev

A B CcC D
a 4 3 1 2
b 3 4 1 2
C 2 4 1 3
d 1 2 3 4

Which of the followings are identified as isobars?

1. 18A1‘4O 1. 17Cl35 11i. 20C&40 1v. 17C137

a. (i) and (iii) b. (ii) and (iv)  c. (iii) and (iv) d. (i) and (ii)
SIPSHTETLIBBIGT 6Tenal CFTUTTHET 6I6TLIMNS SIGHLUITENLD HIT6uTH ?

1. 18AI'40 il. 17C135 1ii. 20C8.40 iv. 17C137

a. (i) wmpb (iii) b. (ii) wbprd (iv) c. (iii) wppw (iv) d. (i) wBwgn (ii)

The human blood has contained how many percentage of plasma?

a. 45% b. 50% c. 55% d. 60%
eld @THBID, IhHHmen FHaiHD Llenmerowmeneal OUBSHESBEHI?
a. 45% b. 50% c. 55% d. 60%
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44,

45.

46.

47.

48.

Which of the following Leucocytes are phagocytic can engulf bacteria?

a. Eosinophils b. Basophils

c. Lymphocytes d. Monocytes

eteu(hd BJSHSH GleusTenemuamibEEheT slemal all(pmiF CFe0EH6MTHe0TeL LTl
a1l(LpMIEG) & edTm601 ?

a. FfGeurm. .Le0BHei b. GuBa. .Neoamer

C. eVIb.".GuUTenFL_&6iT d. GurGarmmengL Helt

Who is called the Father of Modern Physiology?

a. William Harvey b. Andreas Vesalius

c. Galen d. Hippocrates

wrt pejer o | BeFweluler Hhend 616l SIenPHBUILIGSBTT?
a. alevedwid ammirel b. oen Mwed Geugeduierd

c. Gameveir d. enuiGumalym’ L erd

Deoxygenated blood from the cardiac muscles drains into the right atrium by the

a. Coronary artery b. Pulmonary artery

C. coronary sinuses d. pulmonary vein

Bzws s@FUINGHS SRS GODES BISHL _ @peld alegl gUisms
AUHHML S DS

a. aC8ymenil HLoeof b. miewyuiyed Hioest

c. &Cymernfl em&Feuerd d. miewguiyed ey

Arrange the order of Initiation and conduction of heart beat

a. AV node — SA node — bundle of His — purkinje fibers

b. AV node — SA node — purkinje fibers — bundle of His

c. SA node - AV node — purkinje fibers — bundle of His

d. SA node - AV node — bundle of His — purkinje fibers
BzwdzieliL) CTHBL WHHILD LTaBMme aflmsiLBSSMD

a. AV san = SA san — aflevenilall &BedB —> LTH6Rs SHBenn
b. AV sgmi — SA sgmi — LTdeed sBens —> anflerdeniest Emenm
c. SA sam — AV sagn — UTdad smens — anflerdenier SHienm
d. SA sam > AV sagn — anflebeniasl s@menm —> LTHeed sienm

Match the following

Cardiac Motion Time Duration
A. Cardiac cycle 1. 0.4 second
B. Atrial Systole 2. 0.1 second
C. Ventricular systole 3. 0.3 second
D. Ventricular diastole 4. 0.8 second
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49.

50.

51.

13 | Page

A B C D
a. 4 3 2 1
b. 4 2 3 1
C. 4 1 2 3
d 4 2 1 3
CUT(HSHHIB
85w Buisbsd &6V |66
A. B@sw FipBd 1. 04 alemy
B. gifluwed FHerd@Lmed 2. 0.1 alermg
C. Geuewr M@ eomT FerdBL 60 3. 0.3 alemg
D. Oeuewrl féb@eomT L uierdBLmed 4. 0.8 aleg

A B C D

a. 4 3 2 1

b. 4 2 3 1

C. 4 1 2 3

d 4 2 1 3

Which is the largest portion forming nearly two third of the brain?

a. Cerebrum b. Cerebellum c. Thalamus d. Pons

cpemenuiledr cpedplied @TewI(h LIMIEG Sieeydh@ GCUHLDLITETMOUITS SIWHSH LGS 6157
a. Qafuurd b. G&fusdeutd C. H6VMLD6ID d. umesterd

Who introduced the term “hormone” in 1909?

a. WM. Bayliss b. Thomas Addison = c. E.H. Starling d. William Harvey
19098110 o601l “ammiT@omer’ slaiB GFTebemeL SHIBI(PSLILBHSHWeT WTiT?

a. WM. Guuieded b. smoed ougger  c. E.H. eroLniedm d. ellevedund ammirGe

Match the following
Menstrual cycle phase Days
A. Menstrual phase 1. 14t day
B. Follicular phase 2.15th - 28th day
C. Ovulatory phase 3. 6th - 13th days
D. Luteal phase 4.1->5days
A B C D
a. 3 4 1 2
b. 4 3 1 2
c. 2 3 1 4
d 3 2 1 4
OUIT(HSHSIS
LTSHALTUI &M Hlenev BITL_&6iT
A. orgellmul Benev 1. 141b el

B. umedé@eunit mlemsv 2. 15 — 28 B et
C. oemwLd alBu®BL Blemeo 3. 6 — 13 BIL &6
D. aum’iguied mlensv 4. 1 — 5 BIL&6T




52.

53.

54.

55.
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What is the desirable level for blood cholesterol for Indians?
a. Less than 100 mg/dl b. Less than 150 mg/dl

c. Less than 250 mg / dl d. Less than 200 mg/dl
OhFHwiTseiear BrsHsHHe0 BHbe Goucwrgwl al(HLOLSHED QBTUHLILNGIT I6NT6) 6163601
a. 100 108 /CLAVbE GHmma] b. 150 & / GLFedsE Gmmey
c. 250 108 /0L FeddE GHmmey d. 200 WH/OLFbE GHmmay

The term biodiversity was first introduced by whom?

a. Walter Rosen b. E.D. Wilson

c. Cavalier - Smith d. Ernst Haeckel

LIGOIUTNITSHETeNLD 6T OFTe0 (PH&T (LpFHedled WTFmed HBI(PSLILGSSLILILL FHI?
a. eumeol LT Guraen b. E.D. alevger

c. Gameuedwim - erOLllg d. eiiteerol. GlamdEed

Which of the following is called RNA virus?

a. Mumps virus b. Rubella virus
c. Polio virus d. All of these
Leteumealaiauppien etemel RNA ewaugerd &u@ib?
a. IDIDLIeTD  GmeUTErD b. mOLeLeLT emauyerd
c. GumedBuwim emeugerd d. Bmal SimaTSHHID
Match the following
Diseases Causative agent
A. Chicken pox 1. Flavi virus
B. Poliomyelitis 2. Toga virus
C. Dengue fever 3. Varicella Zoster Virus
D. Chikungunya 4. Polio virus
A B C D
a. 3 4 1 2
b. 3 4 2 1
C. 1 4 2 3
d 2 4 1 3
CUT(HSHHIB
Gpmuisei GrpiTuIg &y evof
A. dlerebento 1. J.0Genmal emeuyerd
B. @embLisienemeurgid 2. GLmem emeugerd
C. QLBIg STUIFF60 3. BGauflGFeveur GeromerdLT emauFerd
D. fobasebi@emur 4. GumedBwim emauyerd




56.

57.

58.

59.

aQn o
N = W W
ANGETNQT NN C ¥
= NN = A
WwRrNg

The first transgenic cow produced human alpha lactalbumin protein enriched
milk which name is

a. Dolly b. Rosie c. Ella d. Bully

el GevsLmeolllent O&mewiL LUrHFOsnle WHs uTemed 2 MLSHSH OQFUILD (PFHev
oFLweoy] WwIBBUUL L ugellesr LT SYGLD

a. Lmed b. Gymend C. 6T60 C. 606l

When was I[UCN established?

a. 1942 b. 1944 c. 1948 d. 1958
IUCN emiGurngl mmieuriin L g,?
a. 1942 b. 1944 c. 1948 d. 1958

The development and maturation of platelets are called

a. Thrombopoiesis b. Erythropoiesis
c. Leukopoiesis d. Lymphopoiesis
15355  SLbela  euenTFS  BmId  (PHTFF L6 61601 3]
SIMLPSHBLILIGH MBS
a. SHymbGurBumuiflerd b. emflgGrmGuimuienierd
C. e9luydbBamBumuiendiend d. eSwGuTBuTUIeNerd
Match the following
Micro organism Organic acid
A. Lactic acid 1. Clostridium acetobutylicum
B. Citric acid 2. Mucor species
C. Gluconic acid 3. Chrysogenum
D. Butyric acid 4. Rhizopus species
A B C D
a. 4 2 3 1
b. 2 3 4 1
C. 1 2 3 4
d 3 1 2 4
QUIT(HS SIS
I PNERI &flio ojflevld
A. eoondlgdh  Sflevd 1. &lemmerdlfiguid &IFLCLmiuyl 1960ls1D
B. Al fé oufeod 2. BwbsT Hppeand
C. ensBamais Sjblevld 3. denyCaredeniid
D. dw e oifleold 4. eoyBamuerd Hmnsleorid
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60.

61.

A B CcC D
a 4 2 3 1
b 2 3 4 1
C 1 2 3 4
d 3 1 2 4
Match the following
Immunological tests Diseases
A. Tourniquet test 1. Syphilis
B. Wassermann test 2. Rheumatoid fever
C. Rose-Waaler Test 3 Dengue fever
D. Wayson stain test 4. Typhoid
E. Widal Test 5. Plague
A B C D E
a 1 3 2 5 4
b 5 2 3 1 4
C. 3 1 2 5 4
d 3 1 5 2 4
QUT(HHHIB
Gl Sl CFrHemennsel Gpmuiseit
A. Gurirefdlwl GamsHemen 1. fiederd

B. aungmGuweir Gzmzenet 2. epWOLLALIG STUIFF60
C. Ggmerd-eumevit GFmgement 3. QLMIG STUIFF6

D. Gougenr er0GL UlesT BFrmHement 4. emL. .LUmuI®p

E. emeuLmed Gamgement 5. Gens

A B C D E
a. 1 3 2 5 4
b. 5 2 3 1 4
C. 3 1 2 5 4
d 3 1 5 2 4

Find the correct statements about virus

1. virus shows both living and non living characters.

2. They reproduce inside the host cells

3. They can be crystallized and stored for a very long time.

4. The metabolic machinery, cytoplasm is absent.

a.1,2,3,4 correct b.1, 2, correct 3, 4 incorrect

c. 1,2, 3 correct 4 incorrect d. 1, 2, 4 correct 3 incorrect
emaugerd UBplw Fflwmer eurddlwimisemen HesiBLY.

1. eweugervde o ulmeien LoBBID © ulgmm 6T6is @Tewi(B LIewILSenenud CLmmieTerne.
2. eomeugervgell eLuifluler OFevseiaeiCer @eaiGLHHHLML HBH.

3. Omeausmen LgsHalgaled LS Hewll STVHHMBEG MeUSHH(HHS (LPIQUILD.
4. euenTFenslonBm HHDeYH6ei, FL GLMLIeNTFID SHTewIlILIBH6US606m60
a.1,2,34 & b.1,2 af 3,4 sfusevev
c.1,2,3, M 4 sflwevev d.1,2,4 sfl 3 sflwevev
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62.

63.

64.

Match the following:

List -1 List IT
A. Monotrichous 1. Corynebacterium dipteral
B. Lophotrichous 2. Vibrio cholera
C. Amphitrichous 3. Pseudomonas
D. Peritrichous 4. E. Coli
E. Atrichous 5. Rhodospirillum rubrum
A B C D E
a 2 3 4 5 1
b. 3 2 4 5 1
c. 2 3 5 4 1
d 3 2 5 4 1
QUT(HSHHIS:
ugs - 1 uggs — 11
A. @Bemmd smFuienip 1. Gamfleol umslefuwib 1gligfu
B. @m wemen smenm Hengullenip 2. elufiGuim smeoym
C. 8m (et sBemB HENFUIEnLD 3. @&GLrGiomeunmerd
D. ampis smauiemip 4. e1. Cdmem6V
E. sewsuiempuimpnenel 5. GynBLmerd emLIfledeLLD eHLITLD
A B C D E
a. 2 3 4 5 1
b. 3 2 4 5 1
c. 2 3 5 4 1
d 3 2 5 4 1
Which of the following are Eukaryote?
a. Chlamydomonas b. Sargassum
c. Yeast d. All of these
Ledreuheueeummlen elemeu W GsMGuim’  oy@HLb?
a. &enmilGLmGLomenmerd b. sirargd
C. FeroL d. Oma QORIHHID
Match the following;:
Medicinal plants Disease cured
A. Cinchona 1. Leukemia
B. Sarpagandha 2. Malaria
C. Eucalyptus 3. Blood pressure
D. Papaya 4. Headache
E. Nithya Kalyani 5. Dengue
A B C D E
a. 2 4 3 5 1
b. 2 3 4 5 1
c. 2 3 4 1 5
d 2 3 1 4 5
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QUT(HHSHISH:

LD(HSHSBIU  HTEUTHISHENT GILILBSHSHID CHTUIS6NT
A. FAei@smerT LDJLD 1. auusGsidluim
B. smiuspbsm 2. wBeurfluum
C. mgpev LogLb 3. BI$53 SIWSSHID
D. wiumed 4. FHemev6U6eVl
E. plesgdu ssdwiment 5. QLMIG
A B C D E
a. 2 4 3 5 1
b. 2 3 4 5 1
C. 2 3 4 1 5
d 2 3 1 4 5

65. Arrange the order
a. Atoms — molecules — organelles — cells — tissues — organs
b. Molecules — Atoms — organelles — cells — tissues — organs
c. Molecules — Atoms — cells — organelles — tissues — organs
d. Molecules — Atoms — cells — organelles — organs — tissues

auflewal LB SHHa D

a. SIMISFHET — (LPVSHIBIHET —> HIW o _MIIFHeT — CFLFHeT — Hadsel —
2 MILIL|B6IT

b. cpeodbammideT — DEMIGBH6ET — HIGIR_MILLE6T — QF60B6IT — HabH6T —>
9 MILILS6IT

C. (PVSHIMBIBOT — DEMIHH6T — OFLFH6IT — HIGWI2 _BINILBET — HaHbHeT —)|
9 MILILS6IT

d. cpevdbampiBelr — SEMIBBET — OFOBGT — HIHIZ_MIILBET — 2 MILIL|H6N
— HEHEHDH6I

66. Match the following:

Tissue Function
A. Parenchyma 1. Food storage
B. Chlorenchyma 2. Photosynthesis
C. Collenchyma 3. Protection
D. Sclerenchyma 4. support

A B CcC D
a. 1 2 3 4
b. 2 1 3 4
c. 2 1 4 3
d 1 2 4 3
LIT(HSSIH:

&G Li6oofl
A. unyesTen LT 1. o ewiey BFudhaHe0
B. @&Genmyeitenasiom 2. @efl&FCaibamns
C. GameveaitendLom 3. UTGIBTLIL
D. erv&lerfiyeitenasiom 4. 2 BIFHHSHEMID
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67.

68.

69.

70.

71.

an o
= NN =
N R R N o
O W W A
W W

Physiological effects of cytokinins in plant body are

a. Induces cell division b. Plant Morphogenesis

c. Growth of lateral buds d. All of these

ST 2 L 60HMmIGH6T60 231T60606IH 6 2 | BOFUID alenera|Helt
a. OFeoLGlemU  HITeut(HasleT3e0r b. smauy 2 (HeausCasTmmaluied
C. USBUTL B OLOTL 1968 eUeTTH S d. @meal SEmETHHID

Which ratio is constant for DNA?

a. A+G/T+C b. A+T/G+C c. A+C/U+G d. A+U/C+G
BauBpsled 61FH 19.6T631.6] @60 2 _6IT6N HleweLWITET N&HIGHLID
a. A+G/T+C b. A+T/G+C c. A+C/U+G d. A+U/C+G

In sperm acrosome produces hyaluronidase enzyme. The acrosome is
modification of

a. Lysosome b. Ribosome c. Golgi apparatus d. Mitochondria
alhg GFs0eded amwenCImHIGLeL slamid GBTHenw FThGHD DHCITCFTD 61HaIenL W
ormIUT(y

a. meuBam@amid b. enyGunGsmib

C. Gamevems o MU d. emwor” GLm@esmestt_Muim

Which of the following facts are correct about prokaryotic cells
I. Prominent nucleus is absent

II. Nucleolus is present

III. Mitosis and meiosis cell divisions are takes place

IV. Enveloped cell organelles are absent

A.Tand II are correct B.Iand IV are correct

C. II and III are correct D. Il and IV are correct
Netteupd LGImTGaMBWIM (B OFevsme UBMlwW FmBpiseiled Ffluimerenel eTeneu?
I. Ozpefleumenr o I &(m SenLwirg)

II. PluysefiGuimeverd smewTlILIBGA MBS

III. emwot Lrdlerd @@ Wwirdled OFeLLIMN&He0 HemL GLIBIFBSI

IV. Fauailenmed @GOl L GOF60 HIHTamIBILILG6T SenL WTH

A.T oppid 1T & B.1 wBp IV &

C.II wpp I &M D.III wppio IV &

All of the following are bacteria except

a. Bacteriophage b. E.Coli

c. Lactobacfilus d. Corynebacterium diphtheria
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72.

73.

74.

75.

76.

77.

BaBBIeT @eTems HOIJ LOBBen6aU 6T6060TD LITSlefuimdael
a. umssleMuwmGusy b.e1.Bsmemev
C. 6umdHBLTGLIeI6ver0  FLI960l6rD d. srfremitiurdefiuid gligfur

Which of the following plant boosts the production of red blood cells?

A. Turmeric B. Tulsi  C.Lemon grass D. Mustard
Lereupeueiaumbmpled 6b® HTaufld @JsHs Fauliugn 2 BUSSHenU! SHTewd nlguidl?
A. ehFe B. glend C. efFsId 160 D. 6@

Write the essential component mineral for the formation of chlorophyll.

a.‘a’ chlorophyll b.‘b’” carotein  c. Magnesium d. Xanthophyll
UFHFW HIBOISET 2 _BUSHHHEG CHemeuwmer SHeilold 617
a. ‘a’ uFemFwId b. ‘b’ sCym yemuiGseT c. Gudaiflud  d. FmHBH. L0

Find the incorrect statement:

i. Carbon Sequestration: The simple technique is to preserve trees and plants
more

ii. Trees take up CO;

iii. They break down CO; in photosynthesis

iv. They do not store carbon in new wood

a.ionly b. iv only c. iii only d. ii only
SHAUBTR UTESHUIHMS CHTHOIHMB

1. &MU HTMLIBGSHHIH6L: DHBHTE 66l (LewB LOJHIGmeT  LIFTLOTSHSHeVID,
USHSTH SHTUTHISEN6T GUETTILSILD HT6H

ii. ioymiseT COz 3 a1BSHHIH OBT6iTa eiment

iii. @el&FBardemauien cpsudb CO2 &3 o el Salemenr

1V. 9ieuBens USIDILILIGSHsemed GaFLAlILge0emev

a. 1wl @ b. iv w1 B C. 1ii o BIb d. ii o Gib

Blood is formed in the human adult by the

a. Heart b.Spleen c.Red bone marrow d. Yellow bone marrow
AUMTFF WML S Lo HeoledT DTHHHNDH 2 (HeUTHES6S)

a. ®zwib  b.wewtenfyed  C. DI 6TeVIDL]| LDEHMTF d.woehFelt ereuIDL| LDGHENTF

The longest bone in the human body is

a. Hemerus b. Spine c. Femur d. Tibia

el 2 L 60a L& [HENDTe 6TeVILDL]

a. GuoBend eTebl]  b. (1pHIOBeIDL] C. OBHTML 6TEVILDL d. &med (peTOIETEILDL |
Match the following;:

a. Corpus luteum 1. Testosterone

b. Graafian follicle 2. Inhibidin

c. Sertoli cells 3. Theca interna

d. Leydig’s cells 4. Corpus albicans
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78.

79.

80.

81.

82.

83.

21 | Page

A B C D

a. 2 1 3 4

b. 4 3 2 1

C. 1 2 3 4

d. 3 4 1 2

CUTHSHHIS.

a. SMTUerD eVl 1QUILD 1. QLero@Lmerble@ymest

b. Agm. . wesr ..uTel &6 2. @O igest

C. Q&M BLmell OFevsme6l 3. HHBT @6vIL 6ol

d. 6Si9 GFevsme6I 4. SHiUerd 9I60LT&60T6r0
A B C D

a 2 1 3 4

b 4 3 2 1

C 1 2 3 4

d 3 4 1 2

The method of permanent birth control in male is

a. Tubectomy b. Vasestomy  c. Thyrotectomy d. Hyserectomy
OLEWIBHEHHHTET QT HlEMEOWITET H(HHBHEWL  (LPENBUITEHLD
a. lQuieLISBL LA b. eur@F &L LA C. »aCyTaHL LI d. mamgiréL i

The first human heart transplant was performed by professor Christian Bernard

in the year

a. 1959 b. 1969 c. 1967 d. 1957
LoENHENEL (WHEI (PHeVTH DHW LoTBEI SDipieneudF FaFeamaullenen GCuyT.alplerdiuimed
QuitenmT(h CFUISH S1601(H

a. 1959 b. 1969 c. 1967 d. 1957

What is the life of Red blood corpuscles?

a. 120days b. 220 days c. 400 days d. 320 days
BrH5F Falliy SiemISHeT6N UTLDHTL H6IT 616166, ?

a.120 mriser  b. 220 Bm e c. 400 pm_se d. 320 B seit

Select the plural form of “Life”
a. Lifes b. Lives c. Laifes d. Leaves

Select the incorrect sentence from the options given below.
a. This street is the busiest one in this area

b. This street is busier than any other street in this area

c. This street is the more busiest on in this area

d. No other street in this area is as busy as this

Select the correct sentence.
a. The plane will take out at 5p.m b. The plane will take off at 5p.m
c. The plane would took of at 5p.m d. The plane will taken of at 5P.m




84.  Fill up the blank with suitable preposition given below as option.
We should abstain all alcoholic liquor.
a. in b. away c. from d. with

85.  Fill up the blanks with the correct tenses.

The weather warmer yesterday than it today and it __ worsen
tomorrow.

a. was, is, will b. is, is, will

c. was, was, would d. will be, will, will

86. Identify the sentence.
Besides his father giving him money his mother also did the same.
A. Complex B. Simple C. Compound D. None of these

87.  Which of the following sentence is correct?
A. He goes nowhere these days, doesn’t he
B. He goes nowhere these days, don’t he?
C. He goes nowhere these days, does he?
D. He goes nowhere these days, won’t he?

88.  Fill in the blanks with suitable preposition given below as options:
My car is insured ____fire and theft.
A. for B. by C. against D. to

89.  Select the correct question tag.
[ am not your teacher,
A.aren't1? B. ain't I? C.aml? D.arel?

90. Identify the sentence
The boy was disobedient, so the teacher punished him
A. Simple B. Compound C. Complex D. None

91. Fill in the blanks with the correct homophones.
I paid the to go to
A. fare, fair B. fair, fire C. fare, fear D. fair, fare

92. Complete the sentence choosing an option from those given below:
It is natural in every man to wish distinction
a.on b. of c. to d. for

93. Identify the sentence which is not of the same pattern as the others:
a. He was excited b. He became the leader
c. Solomon was wise d. He wore his new uniform.
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94.

95.

96.

97.

98.

99.

Match the following phrase with their meaning

Phrases Meaning
a. give in 1.return or relinquish
b. give up 2.move back
c. get on 3.yield
d. get back 4 Imperative
a b C d
A 3 4 1 2
B 2 3 4 1
C 4 2 3 1
D 3 1 4 2

Match Column A with Column B and select the correct code given below:

Column A Column B
a. Please avoid use of plastic bags 1.Assertive sentence
b. Why are you in a hurry? 2. Exclamatory sentence
c. What a simple question it is! 3. Imperative sentence
d. Education refines one’s mind 4 Interrogative sentence
a b C d
A 3 4 2 1
B 1 2 3 4
C 4 3 2 1
D 2 1 4 3

Choosing correct option from the given to complete the sentence.
If we had saved rain water more in ponds and lakes
a. we can survive the drought.

b. we could survive the drought.

c. we would survive the drought.

d. we could have survived the drought.

Lalitha has medical leave and is expected to join duty next Monday.
a. took b. take c. taken d. tooked

Identify the degree of comparison.
Iron is more useful than any other metal.
a. positive b. comparative c.superlative  d. none of the above

Fill in the blanks with suitable articles from the options given below:

Mettur Dam is large dam in India build in 1934. It was constructed
in___ gorge, where river Kaveri enters.
a. The, a,the,a b.The, a, a, the c.The, the, a, the d. The, a, the, the
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100.

101.

102.

103.

104.

105.

106.

107.

108.

Select the correct tense

She is singing now.

a. Simple Present Tense b. Present Continuous Tense

c. Present Perfect Tense d. Present Perfect Continuous Tense

Select the correct voice.

Which of the following options has a sentence with the verb in the active voice?
a. The exhibition was opened by the Governor

b. The dog chased the sheep

c. Nothing will be gained by hurry

d. The thief was caught

Fill in the blank with correct question tag.
You Know this story, ?
a. do they? b. don’t they?  c.do you? d. don’t you?

Select the correct tense of the verb underlined.

The sun rises in the east

a. Simple present tense b. Present continuous tense

c. Present perfect tense d. Present perfect continuous tense

Fill in the blank with the correct question tag:
The lessons are quite interesting, ?
A. are it? B. aren’t they? C.isn'tthey?  D. don’t they?

Fill in the blank with the right preposition
My uncle will visit me May.
A.On B. at C. with D.in

Fill in the blank with a suitable question tag:
Let’s go for a walk, ?
a. Should we?  b. Shall we? c. Can we? d. Could we?

Identify the correct sentence from the four options given below:
A. All that glitters are not gold B. All that glitter are not gold
C. All that glitter was not gold D. All that glitters is not gold

Fill out the blank with the suitable option given below:
I went there .

A. to examine personally the situation

B. to examine the situation personally

C. Personally examining the situation

D. examining personally the situation
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109.

110.

I11.

112.

113.

114.

115.

116.

117.

118.

119.

120.

Fill in the blanks with suitable articles:

Woodcock flies from Himalayas to Nilgiris without ___ pause.
a. a, the, a, the b. the, the, a, the c. a, the, the, the d. the, the, the, a

Identify the Simple sentences from the given options:

a. I promised that I will do my best

b. I promised to do my best

c. I will do my best and I promised it
d. I promised so that I will do my best

HBaUL OFHTLTL (1LpeTGerBmaHHTeL F(HRSall LS.
a. Gudef b. Bleor C. GUTGUILD d. smmm

“om” eTeiamID OFTELEVIET GILIT(HEIT .
a. DT LD b. eureid C. alevmig, d. &ybiom

FILBSSGmal UMD PYWTsH LGS

a. smaliuGd b, Buwibeneo C. BpLHwr d. s0pBT6H

‘Uty® THIM 6l l(HBHIHG eTeTml  OLIT(H6IT.

a. @hHw LYHeoa b. 8bFuis HalehT

C. @pHFHuwl mpeof d. @bdw ey

SIBIUML SHFH(HBTEMET “LOSBTFRISIMHS 61601 GBTemILTL LILIBLD LOMTHI6VLD

a. &MTAMIT b, BITmedsTer  C. LeEhdll d. e&xyrs

2018 oub SLewI(BHBTET Hl(HeUeTEHeUT OLewT(H .

a. 2048 b. 2049 c. 2050 d. 2051

‘BTG HMEV(PEOBH6MED 2 (HeuTHSLILLL el DbHF FBUmISeT - @& Wi Fammi?
a. GsHHTeUTLOT b. myfiboeumor  ¢. SLFTEIHeUTLOT d. ompeveviT
‘9 _6leNHHTeL 2 _6ieneud $HBH...." - BHGHMET 2 _WITHIHID H(HHDI

a. {6L6VITENLD b. sevevTenio C. @Qumuiwimento d. semeurenio

QUWIGIILD 6UWIeD &FMHS HleVLILIGHI)

a. GPlehd b. wmsid C. GBUIFHE d. apsvemev
uTL60 auflesEnsd@ gmull CQUT([HEHSIS:

A. aliyGaeierfl 1. UEhFOISHMS

B. wewred 2. 261EhFe0

C. yued 3. Gumiteweu

D. uefewt Lib 4. alend G,

A B C D
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

an o
N )
N R W W
W W N

BN

sreMFTFeler CHallewndll LT 60H6T 61HCTTEISHGHD GL 1D .
a. sralfldsamny b. meaumdHEMmI C. BHRINDDDHMI] d. wupeneisbsamy

BBBHHBHIBMET @M(H eufldeiled LHemOWITS 6I(LpSHIISI .
a. HF6L b. wjussealmgd C. maBSHIn d. emam@yr

LTedTeu(heuenBMIeT STITUTTS IS [HIT6L 61&HI7?
a. Qyewip aiB b. alguwed yHH c. HipdE euTed d. ydw eliguied

‘BallEpmulml” 61D SIeHL GOTIHIUITED DIeNIPHBUILIBLIGUT

a. upeiumyg) b. smyTumys) C. umyglwimi d. undsraer

SMhHWIgHe 6hHll Cuilweuflear SigBlipeded B mbal SO MBS GeuewiBHD 616w
all(mLbLNeoTiT?

a. BILSGH HNEhHT b. Hm.el.s c. o Gagm d. umygwimir
QUT(HHHISH:
A. Bevsdw mpTH 1. umyguwimit
B. s10b M (Bs saleEhT 2. GFesTene
C. @mmmeud 3. 29wy Gum
D. s1fips emasBuil 4. o(mal

A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 4 3 2 1
d 4 1 3 2

“‘OhHuraler CFTHHI" 6edh SHMHAHUIQHENTT60 LITITL L LI L 6UT )
a. SImuIys) b. umygwnmit C. @pregred d. 2 _Gauam.

“BRIG6IT [HeVEVAUT" eTeID H6U60 SlIFTeilel LTL emevd HLODGIWTHUTed Gomfl QLUWITSHSHeT
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TNUSRB - SUB INSPECTOR RECRUITMENT TRAINING - 2022
TEST XIV - REVISION I - GENERAL SCIENCE & PSYCHOLOGY

1 2 3 4 5 6 7 8 9 10
B A B D A A A B B D
11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
D A A A C C B B C B
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
A C B D C A A D B A
31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
D A D D B C A B D C
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
B A C D A C D B A C
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
B D A D A B C A A C
61 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
A C D B A A D A C B
71 72 |73 74 | 75 | 76 | 77 | 78 | 79 | 80
A C C B C C B B C A
81 | 82 | 8 | 84 | 8 | 8 | 8 | 88 | 89 | 90
B C B C A B C C C B
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
A D D D A D C B B B
101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
B D A B D B D B D B
111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
A C A C A B D D B D
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
A C D B C B B C B B
131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
B C B C A A B C D B
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TNUSRB - SUB INSPECTOR RECRUITMENT TRAINING - 2022
TEST XIV - REVISION I - GENERAL SCIENCE & PSYCHOLOGY

1 2 3 4 5 6 7 8 9 10
B A B D A A A B B D
11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
D A A A C C B B C B
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
A C B D C A A D B A
31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
D A D D B C A B D C
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
B A C D A C D B A C
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
B D A D A B C A A C
61 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
A C D B A A D A C B
71 72 |73 74 | 75 | 76 | 77 | 78 | 79 | 80
A C C B C C B B C A
81 | 82 | 8 | 84 | 8 | 8 | 8 | 88 | 89 | 90
B C B C A B C C C B
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
A D D D A D C B B B
101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
B D A B D B D B D B
111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
A C A C A B D D B D
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
A C D B C B B C B B
131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
B C B C A A B C D B
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